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F.BF.B.5: Properties of Logarithms 2
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ANS: 1 REF: 068423siii
ANS: 3 REF: 080226siii
ANS: 1

2

2logx — (3logy +logz) = logx” —logy® —logz = logXT
yz

REF: 061010a2
ANS: 2
loglo™®

log10** —log10* =
¢ ¢ loglD

logl0? =2

REF: 010316b

ANS: 4 REF: 080809b
ANS: 3 REF: 018431siii
ANS: 2 REF: 088528siii
ANS: 1 REF: 018920siii
ANS: 4 REF: 019529siii
ANS: 1

logx = loga’ + logh

logx = loga’b
x=a’b

REF: 061517a2

ANS: 1
logk =clogv+logp

logk =logv® +logp
logk =logvp

k=vp
REF: 080212b
ANS: 2 REF: 011014b
ANS: 4 REF: 010333siii
ANS: 4 REF: 061207a2

ID:



